
Fiiïppïne

Gelijke cijfers zijn gelijke letters.
De eindoplossing ontstaat  in de gr0ze balk.

I  windkant

2  beschodigd

3 tinteling

4 mop  voor  een

seríe tijd-

schi'iften

5 nederig

6  ten  hoogste

7 te  zwaar  be-

vrachten

8  gering

9 deskundige

IO  gestel  oon

het  einde  van

een  spoor

Il  buidelbeert.je

12  deel  van  een

autostoel

13  oordelen

14  werkwijze

'15  een  geves-

tigde  positÍe

hebbend

16  dramatisch

17  afscheiding

18  liefdesavon-

tuurtje

19  vol  van  ver-

nuft

20  meedogen-

loos

21  koetsier

22  een  enkele

kei'n  bezit-

tend

23  benedenste

gedeelte

IO 4 6 í3  14  23 '.t 6

15 2C) 9 3 1 19 6

5 18  I1 17 'IO Il  I Í5

16  6 ' 18  14  7 ) 6 1 0 2 7 1 i9

4 I 19  6 18  í9  1 il

,5!

17  ';) 7 1ü  7

8 6 18 6 I

12 6 21 3 4

15 6 2ü Il  S18 6 18

4 1 6 18 ? i1'l  i9  6 IO 23  -17

16 18  i2  7 I


